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Show any relevant work. For each problem, circle your answer

1. (5 points each) Find the exact value of each of the following. Include a reference angle sketch.
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2. (12 points) For each angle below, change degrees to radians and radians to degrees: L7 /‘)6’
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3. (6 points) Find two angles, one positive and one negative, which are coterminal with Z.

4 ‘7 ansulrs

R T
iF
/l’/?'? %1/‘:‘?/

S=r & /w// G i voeliou s
Vel -
6= Zond|43

¥

= 3ZX 7 A 77“ | —
Y ./6(: (—;({ﬂ) L // 7 @’L__ ) | /
L { 22 /?\/5 recil e

+ 73 2
5. (12 points) A 16 foot ladder leans against a vertical wall; the angle between the ladder afid the ground
is 72°. How far is the base of the ladder from the wall?
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6. (12 points) Solve each triangle below. Sketch appropriate triangles labeled such that side a is opposite
angle A, side b opposite angle B, and side ¢ opposite angle C.

é a. A=75° B =150° c=2 meters. )
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7. (12 points) Find the area of the triangle given in Ga above. ’F—_
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8. (15 points) If cos@ = 5/7 and sin @ < 0, find the values of the other five elementary trigonometric functions
at #. Draw a sketch with appropriate reference angle.
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